4 3 & 2
CLOPAY / IDEAL / HOLMES SHEET: REVISIONS
L iy = N L JHiEs HITEE B 1 OF 4 [Rev. nO.] ZONE: | DATE: | ECN_NO.| APPVD: DESCRIPTION
3720 / C7X20 7/ 240U 7 27GA 2° THICK MINOR RIB 05 = | Weiaiie = BH | REMCAEE MINDZ SEERD. TABLE.
37ee A CO¥eg. » —-= / 206a 2 THICK FLUSH
3724  / C7X24 / 244U 7/ 24GA 2* THICK MINOR RIB
A,
LI B 1F
; | _— VIEW C
] — _— _ — — i i i
- 1 e
¥ U= N
G et o B g
OPTIONAL GLAZING MAY BE
_{/f’ s Vi v lﬁ s n STANDARD (DSB OR BETTER) OR
IMPACT RESISTANT GLAZING.
A MAXIMUM GLAZING SIZE (DLO) IS
| 22"x9-7/8". SEE SECTION B-B
; OM SHEET 2 FOR DETAILS.
—1 GLAZING MAY BE INSTALLED IN
(R TOP SECTION (NOT SHOWN) OR
INTERMEDIATE SECTION (SHOWN).
™~ Two POINT
i \ LOCKING.
\— U—BAR.
I
A
MaX. DOOR WIDTH: 10'-2*
var INUMBER OF #14x5/8" SHEET
DOOR HEIGHT *A" | orcrigns METAL SCREWS.
UP TO &-0° 4
84_ r S 5 .
-3 THRU 12-0-| & 1/47%3/47 SELF
Y32 5% THRL 140 2 TAPPING SCREWS.
14'-3° THRU 16°-0" 8
16"-3" THRU 18°-0° 9
14 GA. END HINGES 14 GA. (MIN.] INTERMEDIATE HINGE
SNAP LATCH ENGAGES
ONTO VERTICAL TRACK. E%EE : J‘% /{
OME SMAP LATCH ON ) AT
EACH SIDE OF DOOR. i MAMUFACTURING PRODUCT CODE
SLIDE BOLT LOCK b~ . TS C_DSIU_IDq’??
ENGAGES INTO h
END DESIGN LOADS: +37.0 -P.S.E' & =4%.0"P.SF.
STILE. otk OUTSIDE TEST LOADS: +55:5 P.SF. & -66.0 P.SF. " PART NO.: N/A
EACH SIDE OF  oytsipe FANDLE: EOEKGEQRN Unless_ Stoted Otngfuise =[=l iR 8385 Oukee Boulevord WINDLOAD RATING
MGA 1 il ' Moson,
sl uTSine END_ oo TGLERANCE%};%-‘_;‘E S BIJaY N, 513-770-4800 W6 DP3/
. 0= +.03 uikding Products: Compang Fax Mo. 513-770-4853
HANDLE. EACH SIDE Pl ol oo TS - :
OF DOOR. o il FOESCRIATION= .123,/4" INTELLICORE DOORS UP TO 10'2"W (SEE TABLE)
INSIDE _SLIOE_BOLT INSIDE HANDLE 000 = £ 0017 |DRAWN, BY:V'SH ¥ ©  [DATE: 2/10/14 |SCALE: NTS DWG
OCK_OPTION. QUTSIDE KEYED LOCK WITH 0000 = #.001% [ORAWN, BY:" 30,57 - : . .
DESIGN EMGIMNEER: L gULEIDLEATEEHYEL%CLE?CSPT\T{;E* LOCK BAR LOCKING. Degrees = +1,/2° €CC__HE_!::K£D'|:81EJ SH DATE: 2/10/14 |SHEET 1 OF 4 SIZE
MARK WESTERFIELD, P.E. N : e Unless Stoted Otherwise e -
DIMENSIONS ARE IN INCHES. DWG. —NO.:. . 103039 — ASB VER: TOI

FLORIDA P.E. #48495 NC P.E. 23832 TEXAS PE. #391513

4

3

. 2

[ 1



4 3 v 2 1

CLOPAY / IDEAL / HOLMES SHEET: REVISIONS
S;i; :: E;ﬁ; :: . :j ggi ; ?g E%EE ?EE?,E RIB 2 OF 4 IREv. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
3720 / C7X20 / 240U / 27GA 2° THICK MINOR RIB B = = 2 o SRR N TG DN E T
37ee /S COXeg » -—- S 20GA 2 THICK FLUSH
3724 A C7X24 7 244U S 240A 2* THICK MINOR RIB
IMPACT—RESISTANT CONSTRUCTIOMN: STANDARD ASSEMBLY CONSREUCTIOM:
SOLID DOORS (NO GLAZING) OR DOORS WITH OPTIONAL IMPACT—RESISTANT GLAZING ARE OPTIOMAL LITES WITH DSB OR TEMPERES@INSULATED GLAZING AVAILABLE. |
IMPACT—RESISTANT. OPTIONAL IMPACT RESISTANT ASSEMBLY COMNSISTS OF ALUMINUM
FRONT FRAME AND SABIC IP LEXAN 9034 (VERSIONS ALSO APPROVED: MR10, 9030, THE ENTIRE DOOR ASSEMBLY INSTALLED INWROMPLIANCE WITH THIS SECTION MEETS THE WIND LOAD RMIREMENTS OF THE FLORIDA BUILDING CODE
90318, 90316, 90317, 90311, 90314, 90355) OR BAYER MAKROLON GP (VERSIONS OR INTERMNATIOMAL BUILDING CODE BUT DOESMMWOT MEET THE IMPACT RESISTANT REQUIREMENT FOR NDBORMNE DEBRIS REGIONS (REF, CHAPTER 16
ALSO APPROVED: SL, AR, 15), APPROVED CC1 PLASTICS IN ACCORDANCE WITH IBC/FBC FBC/I1BC).
2606 AND APPROVED C1 PLASTICS IN ACCORDANCE WITH FBC 2612.
THE ENTIRE DOOR ASSEMBLY INSTALLED IN COMPLIANCE WITH THIS SECTION MEETS THE
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE AND INTERNATIONAL BUILDING
CODE AND IS LARGE— AND SMALL—MISSILE IMPACT RESISTANT.
SECTIO ( RESIST PTION) SLCTION B2
N B—B (IMPACT—RESISTANT GLAZING OPTION (NO IMPACT—RESIS#ANT
G ING OPTl#
INSULATED DOOR SECTION. PANEL v
THICKNESS
DECORATIVE FACADE. PAN HEAD
P 4 SCREW
A
(10} #8-18 x 1/2" ¥
EXTERIOR OF DOOR. SELF—TAPPING SCREWS. ' |
INSULATED Gigs ‘I
INTERIOR OF DOOR. THIGRESS ?
s —
RETAINER. FlUTSIDE .
(12) #8-18 x 1,/2" ALUMINUM FRAME. FRAME INSIDE
SELF—TAPPING SCREWS. FRAME
1/4" THICK POLYCARBONATE
GLAZING.
IMPACT—RESISTANT ASSEMBLY DETAILS STANDARD ASSEMBLY DETAILS
DRAWING 104039-A DRAWING 104039-B
“? " /{ e MANUFACTURING PRODUCT CODE
El oo s BT C-DSIU-1D477
DESIGN LOARS.-+37.0 P.S.F. &~-48.0 P.S.F. ;
TEST LOADS: #55.5-P.S.F. (& —66.0°P.S.F. PART NO.: N/A
Unless_Stofed Otherwise ! | (I i 8585 Duke Boulevord WINDLOAD RATING
CESL.. - Moson, OH 45040 USA
TOLEE?MCES B . nnlﬂpaj Tel. No. 5137704800 ‘\Nl" 6 D P 3 7
‘opsa 03T | Buiding Products Company Fox Mo. 513-770-4853
-gg = igég - {OESCRIPTION: = 1-3/4" INTELLICORE DOORS UP TO 10°2"W (SEE TABLE)
G000 = ;jt:‘{om{ | DRAWN_-BY:” SH DATE: 2/10/14 | SCALE: NTS OWG.
DESIGMN EMNGINEER: Degrees = ‘172 "“[dREckeD BY: sH DATE: 2/10/14 |SHEET 2 OF 4 [SIZE
5 o el . =
ESSQDEEETEFR?EEEQSP'EQC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS 2RE 4 MeHES [OWG. NO- 104039 - A/8 VER: TDI
4 | 3 .3 2 ?



4 & v 2 1

CLOPAY ~/ IDEaL / HOLMES SHEET: REVISIONS
3717 /7 C7X17 /v -- / 270GA 1.75° THICK MINOR RIE 3 OF 4
REV. NO.| ZONE: DATE: N NO.| APPVD: DESCRIPTION
3718 /S C7X18 /  -- /S 276A 1. 75" THICK FLUSH : 2 2
3720 /7 C7%20 7 2400 7 27GA 2* THICK MINOR RIB 05 & = = = SEE REVISION HISTORY ON SHEET ONE.
37ee S COXg2 ~ —- /S 20G0a 2 THICK FLUSH
3724 S C7Xe4 /7 2440 d 240a 2 THICK MINOR RIB ] 1=-3/4" THICK MIN
’7 12 GA. GALV. STEEL TOP ROLLER BRACKET. EACH
/ BRACKET ATTACHED W/(5) #14x5/8" SHEET METAL
SCREWS. ADJUSTABLE SLIDE ATTACHED TO TOP
HORIZONTAL (TOP) JAMB JAMB TO SUPPORTING STRUCTURE ATTACHMENT <7\ BRACKET WITH (2) 1/4"x1/2" BOLTS AND NUTS PER
= /_ (NO LOAD FROM DOOR) [ s . BRACKET.
f ‘}— 1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE TRACK AND THEN FROM THE TRACK TO
i g THE 2x6 VERTICAL SYP (GRADE #2 OR BETTER) JAMBS. NO LOAD FROM THE DOOR IS
W TRANSFERRED TO THE HORIZONTAL (TOP) JAMB.
2. ES%? gﬁﬁé JAMB SEES A MAXIMUM DESIGN LOAD OF +185 LB & -220 LB. PER LINEAR 27 GA. {.016" MIN.) EXTERIOR STEEL
3. ALL JAMB FASTENERS MAY BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TO PROVIDE A - Egﬁ;s;#?ﬁ %;14r~?rsh|;wf{}fgm?:%haﬁ%?.ﬁzg”
FASTENER FLUSH MOUNTING SURFACE. TO BOTH SIDES OF STEEL SKIN
TYPE 4, A 1/3 STRESS INCREASE FOR WIND LOAD WAS NOT USED IN THE CALCULATION OF ALLOWABLE '
/| LOADS FOR ANCHORS AND FASTENERS FOR STEEL, CONCRETE AND MASONRY.
—A—
MAX. 0.C. MOTE: 2x6 WOOD JAMBS ARE NOT REQUIRED WITH CONTINUQUS ANGLE MOUNT TRACK. HOWEVER, Gl o "
IF DESIRED ON STEEL JAMBS OR CONCRETE OR BLOCK WALLS, APPROVED FASTEMERS AS SECTIONS ARE 1-3/4" THICK (MIN.} PANELS.
DETAILED BELOW SHOULD BE INCREASED IN LENGTH BY 1—1/2" AND INSTALLED DIRECTLY EXTERIOR 27 GA. MIN. GALV. STEEL INTERIOR 27 GA.
P THROUGH THE AMGLE AND 2x6 WOOD JAMBS INTO THE STEEL JAMBS OR CONCRETE OR BLOCK MIN. GALV. STEEL. THE STUCCO EMBOSSED STEEL
WALLS. ANCHORS CAN BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TQO PROVIDE A FLUSH TEXTURE IS PREPAINTED WITH A BAKED POLYESTER
MOUNTING SURFACE. CONTINUOUS ANGLE TRACK CAM BE ANCHORED DIRECTLY TQ GROUT PAINT. MINOR RIBS ARE PLACED EVERY 4 INCHES
/— 2x6 VERTICAL JAMB REINFORCED BLOCK WALL OR 3,000 PSI MIN. CONCRETE COLUMM OR STEEL JAMBS. ALONG THE WIDTH OF THE EXTERIOR PANELS.
/ \ TOMGUE AND GROOVE JOINTS,
ke i
el |— VIEW_E _EFC GE. EAC GE FASTENED
i . o EE: " s 14 GA. GALY. ROLLER HINGE. H HIN ASTEN
| 1-7/8— 30 - G?ﬁ.[EVKSSITEJELBAR o TO END STILES W/(4) §14x5/8" SHEET METAL AND
l ] : : : - (4) 1/4"«3/4" SELF TAPPING SCREWS. (SEE VIEW "B")
_ TT——— (1) 3" x 200A. STEEL U—BARS AT THE BOTTOM OF ‘
— EVERY SECTIOM WITH (1) ON THE TOP OF THE
BOTTOM SECTION. ATTACHED WITH (2) 1/4"x3/4"
SELF-TAPPING SCREWS PER HINGE LOCATIOM. (SEE
VIEW "E")
27 GA. (016" MIN.) EXTERIOR STEEL
SKIN WITH G-40 MIN. GALV., BAKED-ON
- POLYESTER PAINTED TOP COAT APPLIED
N TO BOTH SIDES OF STEEL SKIM.
Fa
12 GA. GALV. STEEL BOTTOM BRACKET.

ATTACHED WITH (4) #14x5/8" SHEET METAL SCREWS.

FASTEMER ATTACHMENT TQ SUPPORTING STRUCTURE SCHEDULES
MAXIMUM ALUMINUM EXTRUSION & WVINYL WEATHERSTRIP.
N~—CEMTER
aim i L LI FE, SECTION A—A (SIDE VIEW)
BETWEEN _|WASHERS
BUILDING TYPE FASTEMER TYPE FASTEMERS® |REQUIRED?
ggLLﬂw BLOCK WALL 1 ;:4" x 1-1 ::4" MIN, EMBED ULTRACOMN COMCRETE ANCHOR 9" 7 1" 0.0,
OUT FILLED BLOCK WALL [1/4" x 1-3/4" MIN. EMBED ULTRACON CONCRETE ANCHOR 14=37/4"  [1" 0.0
2000 PSI MIN. CONCRETE | 1/4" x 1" MIN, EMBED ULTRACON CONCRETE ANCHOR 12-3/4 1" 0.0, L ACT IRLE ERO b
2000 PSI MIN. CONCREIE | 1/4" x 1 MIN. EMBED TAPCON CONCREIE ANCHOR 11" 1~ 0.0. C=BSIU=1IREET
2000 PSI MIN, CONCRETE | 3/8" x 1-3/4" MIN. EMBED WEJ-IT ANKR TITE SLEEVE ANCHOR 24" INCLUDED DESIGM LOADS: +37.0 P.S.F. & —44.0 P.S.F. ; A
,[4000 PSI MIN, CONCRETE | 3/8" x 1-3/4" MIN_ EMBED WEJ-IT ANKR TITE SILEEVE ANCHOR 24° INCLUDED TEST LOADS: +55.5 P.S.F. & —66.0 P.S.F. PART NO.: N/
AWOOD FRAME (SYP 0.55 SG)|1/2" x 3" LAG SCREW (ASTM A307, GRADE A) 1-5/8" EMBED INTQO STRUCTURE 24" 100 Uniess Stated Otherwise | (D 8585 Duke Boulevord WINDLOAD RATING
14GA STEEL {0.0B07 MiN) |1/4"—14 » 1" ITW BUILDEX TEKS SELF-DRILLING FASTENER 12-1/4" 1 Q.0 TOLERANCES ore [“upay Moson, OH 45040 USA
12GA_STEEL {0.105" MM} [1/4"—14 x 1" W BUILDEX TEKS SELF-DRILLING FASTEMER 21-1/2" |1 0O.D. &= Tel. No. 513-770-4800 W 6 D P 3 7
11/8" STEEL 1/4"—14 x 1" ITW BUILDEX TEKS SELF—DRILLING FASTENER 24" T 0.0 .0 = +.031 |Buidng Products Compony  Fox No. 513-770-4853
VLo s ahd o * FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM ON—CENTER DISTANCE. HIGHEST ANCHOR INSTALLED égg . ;'gég DESCRIPTION:  1-3/4" INTELLICORE DOORS UP TO 10°2"W (SEE TABLE)
ke & - AT LEAST AS HIGH AS THE DOOR OPEMING. : = & : - -
DESIGN EFLGIN'JEEﬁ-" L a® - CLOPAY DOES MOT SUPPLY JAMB ATTACHMENT FASTENERS. 0000 = +.001 DRAWN BY: SH DATE: 2/10/14 [SCALE: NTS OWG.
: bl R e MIMIMUM DISTAMCE BETWEEN CENTER OF ANCHOR AND EDGE OF CONCRETE BLOCK: 2-1/2", EXCLUDING STUCCO THICKNESS. Degress = 41,2 CHECKED BY: SH DATE: 2/10/14 |SHEET 3 OF 4 [SIZE
MARK WESTERFIEED,, PLEZ "~ - Urless Staled Otherwise :
FLORIDA P.E. §#48485, NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.|DWG. NO.: 104039 - A/B VER: TDM



4 B < 2 L

CLOPAY / IDEAL / HOLMES SHEET: REVISIONS
ggg j: gii; :: == :: S?Ei } gg mggi ?EBSE RIB 4 OF 4 [Rev. NO.[ ZONE: | DATE: | ECN NO.[ APPVD: DESCRIPTION
= . = = = - SEE REVISION HISTORY OM SHEET OMNE.
3720 / C7X20 7 240U 7 27GA 2° THICK MINOR RIB i
3722 £ COXee /, —- s 20GA 2 THICK FLUSH
3724 S CT¥ed 7 2440 A 240a 2 THICK MINOR RIB
2" TRACK COMFIGURATION HORIZONTAL TRACK
DOORS UP TO 800 LBS. SUPPORT BY DOCR
INSTALLER (TO SUIT). 5
NOTE DOUBLE TRACK K DOOR COUNTERBALAMCE SYSTEM HEIGHT | L JAME CONFIGURATION ANGLE MOUNT JAMB CONFIGURATION
HEADROOM, Hi-LIFT TRACK. LAl : . , 6-6"] 70" DOORS UP TO 800 LoD, 2x6 SYP JAMB (IF PRESENT
FOLLOW-THE- ROOF e B - - % H
TRACK, AND VERTICAL LIFT 2 13 GA GALV. STEEL FLAG BRACKET ATTACHED TO 707 76 BRACKET MOUNT JAMB CONFIGURATION SEE JAMB NOTES ON SHEET 3).
i ARAERE JAgEISITTHRA{S : \51'.'};‘116 {2}; 1;’3{8%?% RS LS 1" DOOR OVERLAP (EACH SIDE) —| |—
CPTIONS. : AN K Wi . 8'-0"| 88" OPTIONAL STOP MOULDING
TRACK CONFIGURATION L 8'-6"| 94" 2x6 SYP WOOD JAMB. BY INSTALLER (TQ SUIT). ONE 5/16" x 1-5/8" LAG
ABOVE THE DOOR OPEMING 3] ) g'-0"[100" REQUIRED FOR BRACKET T o 16 CA GALY. STEEL DOUBLE—-EMD-STILE . SCREW SPACED AT THE SAME
WIND LOAD RATING. £ el e 9 -6 1106~ BRI o ‘i FASTENED WITH (1) #8 X 1/2° WAFER SCREW. [ Z¢ s o DISTANCES AS THE TRACK BOLTS
| . — . —3 e (o 80 b
e iy = . 24"). ALSO TWO LA
] 62°+4"__ 2" GALV. STEEL TRACK, 10124 2-1/2" % 12 GA GALY. STEEL < | g R e
TRACK THICKNESS: 0.060 —an ™
i =L 11°'=6"[130 TRACK BRACKETS FASTENEFD ™o I HORIZONTAL TRACK JUNCTION,
12'—0"[136" WOOD JAMBS WITH 5/6" X _— 7
T l 12—6"[182" 1-5/8" LAG SCREWS NOT TO e e 18 GA GALV. STEEL CENTER HINGE
g 2 b 13°=0"1148" EXCEED 30" OMN-CENTER, : FASTEMWED TQ SECTION W/(4) EACH
T - s e 136" 154" #14x5/8" SHEET METAL SCREWS.
© ERIICAL TRIGK 14 —0" 160" 14 GA. GALV. STEEL ROLLER HINGES FASTEMED TO END STILES W/{4) EACH fi14x5/8"
g MOUNT OR CONTINUOUS ANGLE 0 1160
Z (1-3/4"x2-1/4"x12 GA MIN.) 14 —6"166" SHEET METAL SCREWS AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.
E MOUNT. ALL BRACKETS/TRACK 15-0"172" 2" GALV. STEEL TRACK FASTEMED TO
CLIPS ARE 12 GA, GALV. STEEL. 15 —-6"178" 12 GA GALV STEEL TRACK BRACKETS .
BRACKETS,/CLIPS ARE ATTACHED 16 =0"|184" WITH EITHER {2) 1/4" DIA. RIVETS OR 2" DIA. SHORT STEM, 10 BALL STEEL ROLLER WITH STEEL OR NYLON TIRE.
TO TRACK WITH EITHER TWQ 1/4" 15:—6: 190:: (1} 1/4" x 5/8" BOLT & NUT PER e
RIVETS OR ONE 1,/4" BOLT AND ‘;.‘g, 136 FPNEHIRRECTER LHR BRACKET {2-1/2" x 5-3/4" x 12GA)
" Rk T PREPARATION OF JAMBS BY OTHERS. ATTACHED WITH (2) 1/4" x 3/4" SELF TAPPING
18'—0"[208 SCREWS. (
3" TRACK COMNFIGURATION
NFIGURATION DOUBLE TRACK
DOCRS 800 LBS AND OVER. DooJ;sM BﬁD%DLESG AND OVER OW_HEADROOM OPTION
CENTER HANG REQUIRED FOR : {AVAIL. FOR BOTH 2" AND 3" TRACK)
NOTE DOUBLE TRACK DOORS OVER 8' HIGH.
HEADROOM, HI—LIFT TRACK, ‘ DOUBLE HORIZONTAL
EOL SOwe JHE = RoaE i E _ 1" DOOR OVERLAP (EACH SIDE) — T

TRACK, AND VERTICAL LIFT
Drmons. - VALABLE 2x6 SYP JAMB (IF PRESENT:
' ¥ 3" GALV. TAPERED STEEL TRACK AND ANGLE. TRACK SEE JAMB NOTES ON SHEET 3).

CPTIONAL STOP MOULDING BY DOOR INSTALLER (TO SUIT).
16 GA GALV. STEEL DOUBLE-END-STILE FASTEMED

TRACK MFIGLIRA I 4 |
i e v . THICKNESS: 0.101". ANGLE THICKNESS: 0.080". HORIZONTAL TRACK G4/ wn (1) #8 X 1/2° WAFER SCREW,
DOES NOT AFFECT THE MIN. ANGLE DIMENSIONS 3—1/4" x 2-7/8". SUPPORT BY DOOR = ; i |
WIND LOAD RATING =] INSTALLER (TO SUIT). S——_—
' [P VERTICALy HORIZOMIAL, TRALK 3-1/4" x 2-7/8" MIN. x 0.080" TAPERED }
LINGHON. TH 178 BAUls ANGLE. SEE LAG BOLT MOUNTING AT TRACK ] e RN A

= FASTENED TO SECTION W/(4) EACH
“L 7/16" 1.0. ROUND #14x5/8" SHEET METAL SCREWS.

PUSH NUT FASTENER.

& MNUTS FOR EACH TRACK. CONFIGURATION BELOW.

AS RQD: SPACING NTE 307 O.C. BETWEEN TOP WERTICAL

B
I
o
[¥8)
I
x s TRACK MOUNTING SLOT AND VERT./HORIZ. TRACK JUNCTION,
=] ‘\T- 0.101" THICK 3" GALV. STEEL TRACK FASTEMED 14 GA. GALV. STEEL ROLLER HINGES FASTENED TO EMD
° TO TAPERED ANGLE. TRACK ATTACHED TO STILES W/(4) EACH #14x5/8" SHEET METAL SCREWS
n | ADDITIONAL MOUNTING SLOTS TAPERED ANGLE WITH ONE 1/4"x5/8" BOLT & AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.
= SPACED AT 24" CENTERS. NUT AT EACH MOUNTING SLOT.
% oo VERTAL 3" DIA. SHORT STEM BALL BEARING STEEL ROLLER.
w HEIGHT |TRACK LENGTH _ Tl £ MANUFACTURING PRODUCT CODE
e 34" gj—g_‘ Z PREPARATION OF JAMBS BY OTHERS. C-DSIU-1D477
e LR DESIGN LOADS: +37.0 P.S.F, & —44.0 PSF.
O i R TEST LOADS: +55.5 P.S.F. & —66.0 P.S.F. PART NO.: N/A
: . - = i Duke Boulevard WINDLOAD RATING
: ONE. K" TRACK BOLT AND 12-07 132" Unless Staoled Otherwise -[:I 8585
: ONE. )" TRACK BOLT A =R TOLERANCES o |umm UsIOPAY  Yoson %7,93000 03 Wi THS
= SLOT LOCATION. }g,:g, ;g 0 = +.031 |Building Products Company Fox No. 513-770-4853
& = . = " ONE 5/16" x 1-5/8" LAG SCREW SPACED AT THE SAME 00 = £.015 . 1-3/4" INTELLICOR TO 10'2'W (SEE TABLE
: - 10 Eon A DISTANCES AS THE TRACK BOLTS. TWO LAG SCREWS ALSO LOCATED e e  |CESCRIBTION. -3/ INIELLIGORE [O0RS UE 10 203 )
L e e . ABOVE VERTICAL/HORIZONTAL TRACK JUNCTION. 0000 = +.001 DRAWMN BY: SH DATE: 2/10/14 |SCALE: NTS owWe.
DESIGN ENGINEER:© kel Degrees = +1/2 |CHECKED BY: SH DATE: 2/10/14 |SHEET 4 OF 4 |SIZE
MARK WESTERFIELD) PE e Unless Stated Otherwise
: : : = : TOI
FLORIDA P.E. #48495, NC P.E. #23832. TEXAS P.E. #91513 [ DIMENSIONS &RE IN INCHES.| DWG., MO, 104039 .ﬁ-‘.l"rB VER: TD



